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uncVZ:corrM {abs(corrM-0.021)<2.8/2*(0.00122776544099+0*uncVZzZ)}

hnew2d

= Entries 79964
— Mean x 0.0211
= Meany -4.779
E Std Dev x 0.0009829
= Std Dev y 3.125
= i 2000
§ 1500
E— . 1000
— [ ™

—— - -_

= 500
=, 1 P RS U E S B U RS R 1 M IR 0

0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.021)<2.8/2*(0.00122776544099+0*uncVZz)}
hnewld

= Entries 79964

— Mean -4.779

- Std Dev 3.125

X2/ ndf 60.79/ 66

E— Amplitude 5392 + 26.0

— Mean -4.743 £ 0.012

| Sigma 2.91+0.01
= Tail z 5.47 £ 0.36

E Tail length 1.549 + 0.024
E

? M | M IR
50 20 30 40 50
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uncVZ:corrM {abs(corrM-0.0217959183673)<2.8/2*(0.00126179711676+0*uncVZ)}

hnew2d

= Entries 88769
— Mean x 0.02188
= Meany -4.756
E Std Dev x 0.001012
— Std Dev y 3.046
E_ 2500
= i 2000
— ! 1500
= - 1000
== ==

= 500
=" L b L L e L L I P R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1

uncVZ {abs(corrM-0.0217959183673)<2.8/2*(0.00126179711676+0*uncVZzZ)}
hnewld

E- Entries 88769

— Mean -4.756

— Std Dev 3.046

X2/ ndf 87.21/65

E Amplitude 6152 + 28.3

E Mean -4.737 £ 0.011
| Sigma 2.831+ 0.011

Tail Z 5.157 £ 0.261

E- Tail length 1.554 + 0.022
E

E M B | A L
50 20 30 40 50




uncVZ:corrM {abs(corrM-0.0225918367347)<2.8/2*(0.00129582879253+0*uncVZ)}

50 = i hnew2d
= Entries 96746
40 — Mean x 0.02267
= Meany -4.746
30 E— Std Dev x 0.00104
= Std Dev y 2.967
20 E— 3000
10 f— 2500
o = 2000
-10 :_
= 1500
-20 :_
= 1000
-30 F— =
0 E— 500
= [T c o b by b b L 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0225918367347)<2.8/2%(0.00129582879253+0*uncVZ)}
. hnewld
10" = Entries 96746
= Mean -4.746
— Std Dev 2.967
5 X2/ ndf 73.31/63
10 E- Amplitude 6884 + 30.3
— Mean -4.74 + 0.01
: Sigma 2.758 £ 0.010
5 Tail Z 4.926 + 0.241
10 :? Tail length 1.544 + 0.020
0 E-
1
E M | M L
-50 20 30 40 50
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uncVZ:corrM {abs(corrM-0.023387755102)<2.8/2*(0.0013298604683+0*uncVZzZ)}

hnew2d
= Entries 103765
— Mean x 0.02344
= Meany -4.737
= Std Dev x 0.001068
= Std Dev y 2.887
= 3000
E_ 2500
§ 2000
= 1500
= —— 1000
E— 500
=, 1 PR RS RS E RS RS SRS R 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.023387755102)<2.8/2*(0.0013298604683+0*uncVZzZ)}
hnewld

= Entries 103765

= Mean -4.737

= Std Dev 2.887

B X2/ ndf 62.39/61
= Amplitude 7604 + 32.5

= Mean -4.733 £ 0.010

— Sigma 2.675 £ 0.010

Tail Z 4.725 + 0.261

E Tail length 1.514 + 0.018
E

E NP B 1 N .
50 20 30 40 50




uncVZ:corrM {abs(corrM-0.0241836734694)<2.8/2*(0.00136389214407+0*uncVZ)}

50 hnew2d
= Entries 109616
40 — Mean x 0.02422
= Meany -4.729
30 E— Std Dev x 0.001097
= Std Dev y 2.806
— SOU
20 —
= 3000
10 —
= 2500
0
10 E_ 2000
-20 f— 1500
-30 f— _- - 1000
0 E— 500
= Lo b by b by Ly 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0241836734694)<2.8/2%(0.00136389214407+0*uncVZ)}
hnewld
10¢ = Entries 109616
= Mean -4.729
— Std Dev 2.806
— X2/ ndf 57.72 159
10° Amplitude 8268 + 34.4
= Mean -4.73 £ 0.01
— Sigma 2.598 + 0.009
— Tail Z 4,544 + 0.213
10° = Tail length 1.486 + 0.017
10 =
1
E MR BT | M L
-50 20 30 40 50
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uncVZ:corrM {abs(corrM-0.0249795918367)<2.8/2*(0.00139792381984+0*uncVZ)}

hnew2d
= Entries 114351
— Mean x 0.025
= Meany -4.721
= Std Dev x 0.001125
= Std Dev y 2.736
= - 3000
= . 2500
E_ 2000
= ! 1500
= == 1000
E— 500
=, Lo b by b by Ly 1 A R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0249795918367)<2.8/2%(0.00139792381984+0*uncVZ)}
hnewld
— Entries 114351
= Mean -4.721
- Std Dev 2.736
— X2/ ndf 53.45/ 58
= Amplitude 8850 + 36.0
= Mean -4.723 £ 0.009
— Sigma 2.531+ 0.009
Tail Z 4.4 +0.2
E? Tail length 1.456 + 0.016
E
? NP B 1 M BT
50 20 30 40 50




uncVZ:corrM {abs(corrM-0.0257755102041)<2.8/2*(0.00143195549561+0*uncVZ)}

50 hnew2d
= Entries 118172
40 — Mean x 0.02578
= Mean y -4.724
30 E— Std Dev x 0.001154
= Std Dev y 2.662
20 :_ 3500
10E— = 3000
oE— 2500
-10 f— 2000
-20 f— 1500
-30 f— == 1000
-40 f— 500
= Lo b by b by Ly 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0257755102041)<2.8/2%(0.00143195549561+0*uncVZ)}
hnewld
10— Entries 118172
= Mean -4.724
— Std Dev 2.662
- X2/ ndf 62.47 1 56
10° Amplitude 9417 + 37.5
= Mean -4.728 £ 0.008
— Sigma 2.456 + 0.008
— Tail Z 4.218 + 0.185
10" =— Tail length 1.43 +0.02
10 E-
1
E M B L M L
-50 20 30 40 50




uncVZ:corrM {abs(corrM-0.0265714285714)<2.8/2*(0.00146598717139+0*uncVZ)}

50 = i hnew2d
= Entries 121060
40 — Mean x 0.02657
= Meany -4.727
30 E— Std Dev x 0.001181
= Std Dev y 2.592
20 —
10 E— - 3000
oF—
-10 — 2000
-20 E_
-30 — = 1000
_40 E_
= Lo b by b by Ly 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0265714285714)<2.8/2%(0.00146598717139+0*uncVZ)}
hnewld
10° Entries 121060
E Mean -4.727
= Std Dev 2.592
- X2/ ndf 58.51/54
10° Amplitude 9928 + 39.5
= Mean -4.73 £ 0.01
= Sigma 2.382 + 0.008
— Tail Z 4.044 + 0.200
10 = Tail length 1.403 + 0.015
10 E—
1
E MR BT | M L
-50 20 30 40 50




uncVZ:corrM {abs(corrM-0.0273673469388)<2.8/2*(0.00150001884716+0*uncVZ)}

50 hnew2d
= Entries 123599
40 — Mean x 0.02736
= Meany -4.731
30 E— Std Dev x 0.00121
= Std Dev y 2.53
20 /—
10 E— = 3000
(o) =
-10 — 2000
20 E— = =
-30 — = 1000
_40 E_
= Lo b by b by Ly 1 A R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0273673469388)<2.8/2%(0.00150001884716+0*uncVZz)}
hnewld
4 Entries 123599
10 = Mean -4.731
= Std Dev 2.53
_ X2/ ndf 51.5/53
3 Amplitude 1.04e+04 + 4.08e+01
10 E Mean -4.737 £ 0.008
= Sigma 2.32+0.01
— Tail Z 3.905 + 0.201
10* Tail length 1.379 + 0.014
0 E-
1
-50 20 30 40 50
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uncVZ:corrM {abs(corrM-0.0281632653061)<2.8/2*(0.00153405052293+0*uncVZ)}

hnew2d

= Entries 125359
— Mean x 0.02814
= Meany -4.734
= Std Dev x 0.001238
= Std Dev y 2.467
— 3000
— 2000
— 1000
=, A A L 0

0.07 0.09 0.1

uncVZ {abs(corrM-0.0281632653061)<2.8/2%(0.00153405052293+0*uncVZ)}
hnewld

Entries 125359
= Mean -4.734
= Std Dev 2.467
— X2 I ndf 55.03 /52
| Amplitude 1.082e+04 + 4.197e+01
= Mean -4.741+ 0.007
= Sigma 2.262 + 0.007
[ Tail 3.806 + 0.220

Tail length 1.344 + 0.013
E
E
E. | R R B B
50 20 40 50




uncVZ:corrM {abs(corrM-0.0289591836735)<2.8/2*(0.0015680821987+0*uncVZ)}

50 hnew2d
= Entries 125821
40 — Mean x 0.02893
= Meany -4.741
30 E— Std Dev x 0.001261
= Std Dev y 2.403
20 —
10 = 3000
oF—
-10 ;— 2000
-20 — ]
-30 — 1000
_40 E_
= 1 PR RS RS E RS RS SRS R 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0289591836735)<2.8/2*(0.0015680821987+0*uncVZ)}
hnewld
4 Entries 125821
10 = Mean -4.741
= Std Dev 2.403
— X2/ ndf 62.95/ 50
R Amplitude 1.113e+04 + 4.291e+01
0 ET Mean -4.753 £ 0.007
- Sigma 2.211+ 0.007
- Tail Z 3.724 £ 0.211
10 — Tail length 1.312 + 0.013
=
1
E TR B | M L
-50 20 30 40 50




uncVZ:corrM {abs(corrM-0.0297551020408)<2.8/2*(0.00160211387447+0*uncVZ)}
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hnew2d
= Entries 126161
— Mean x 0.02971
= Meany -4.746
E Std Dev x 0.00129
= Std Dev y 2.351
— 3000
— 2000
— 1000
= L e e by e by b Ly 0
0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0297551020408)<2.8/2%(0.00160211387447+0*uncVZ)}

_ hnewld

Entries 126161
= Mean -4.746
= Std Dev 2.351
— X2 I ndf 58.23 /48

Amplitude 1.143e+04 + 4.477e+01
E Mean -4.758 £ 0.007
= Sigma 2.155 + 0.007
- Tail Z 3.594 + 0.193
- Tail length 1.293 + 0.013
E
= | R R
50 20 40 50




uncVZ:corrM {abs(corrM-0.0305510204082)<2.8/2*(0.00163614555024+0*uncVZ)}

50 = i hnew2d
= Entries 125984
40 — Mean x 0.03049
= Meany -4.752
20 E— Std Dev x 0.00132
= Std Dev y 2.3
20 /—
10 = 3000
(o) =
-10 E— ! 2000
-20 E_
-30 — 1000
_40 E_
= | I IR B BT B R B [ . 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0305510204082)<2.8/2%(0.00163614555024+0*uncVZ)}
hnewld
B Entries 125984
100 E Mean -4.752
— Std Dev 2.3
— X2 I ndf 59.53 / 47
e Amplitude 1.169e+04 + 4.578e+01
E Mean -4.769 £ 0,007
- Sigma 2.102 = 0.007
— Tail Z 3.456 + 0.182
10° Tail length 1.279 + 0.012
=
1
-50 20 30 40 50




uncVZ:corrM {abs(corrM-0.0313469387755)<2.8/2*(0.00167017722601+0*uncVZ)}
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hnew2d
= Entries 125138
— Mean x 0.03128
= Meany -4.749
E Std Dev x 0.00135
= Std Dev y 2.248
;_ i 3000
= ! 2000
— 1000
= L e e by e by b Ly 0
0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0313469387755)<2.8/2%(0.00167017722601+0*uncVZ)}
hnewld
Entries 125138
E Mean -4.749
— Std Dev 2.248
— X2/ ndf 80.77 / 46
Amplitude 1.19e+04 + 4.67e+01
E Mean -4.767 + 0.007
= Sigma 2.05+0.01
| Tail Z 3.346 £ 0.166
Tail length 1.256 + 0.012
E
E
E L . ﬂ s Loy ey Ly
50 20 40 50




uncVZ:corrM {abs(corrM-0.0321428571429)<2.8/2*(0.00170420890178+0*uncVZ)}

50 = i hnew2d
= Entries 123806
40 — Mean x 0.03207
= Meany -4.757
20 E— Std Dev x 0.001375
= Std Dev y 2.199
20 /—
10 = 3000
(o) =
-10 — 2000
-20 E_
-30 — 1000
_40 E_
= Lo b by b by Ly [ B L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0321428571429)<2.8/2%(0.00170420890178+0*uncVZ)}
hnewld
B Entries 123806
10 = Mean -4.757
— Std Dev 2.199
— X2/ ndf 82.79/45
e Amplitude 1.204e+04 + 4.729e+01
E Mean -4.775 £ 0.007
= Sigma 2.003 + 0.007
_ Tail Z 3.253+0.181
10° = Tail length 1.233 + 0.012
0=
1
E L. ” A PR I B
-50 20 30 40 50
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uncVZ:corrM {abs(corrM-0.0329387755102)<2.8/2*(0.00173824057755+0*uncVZ)}

uncVZ {abs(corrM-0.0329387755102)<2.8/2%(0.00173824057755+0*uncVZ)}

hnew2d
Entries 122448
Mean x 0.03286
Meany -4.769
Std Dev x 0.001401
Std Dev y 2.156
3500
3000
2500
2000
1500
1000
500
M T MR B L 0
0.07 0.09 0.1
hnewld
Entries 122448
Mean -4.769
Std Dev 2.156
X2/ ndf 75.97 / 44
Amplitude 1.217e+04 + 4.805e+01
Mean —-4.789 + 0.007
Sigma 1.959 + 0.007
Tail Z 3.147 £ 0.156
Tail length 1.219 + 0.011
1 .” P IR T S T TR TR S S N S T
20 40 50
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uncVZ:corrM {abs(corrM-0.0337346938776)<2.8/2*(0.00177227225332+0*uncVZ)}

uncVZ {abs(corrM-0.0337346938776)<2.8/2%(0.00177227225332+0*uncVZ)}

hnew2d
Entries 120673
Mean x 0.03364
Meany -4.772
Std Dev x 0.001426
Std Dev y 2.117
3500
3000
2500
2000
1500
1000
500
M T RN T I T T T 0
0.07 0.09 0.1
hnewld
Entries 120673
Mean -4.772
Std Dev 2.117
X2/ ndf 74.21/ 44
Amplitude 1.22e+04 + 4.84e+01
Mean -4.795 + 0.007
Sigma 1.926 + 0.006
Tail Z 3.088 + 0.159
Tail length 1.201+ 0.011
L .” P IR T S T TR TR S S N S T
20 40 50
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uncVZ:corrM {abs(corrM-0.0345306122449)<2.8/2*(0.00180630392909+0*uncVZ)}

hnew2d
= Entries 118438
— Mean x 0.03442
= Meany -4.775
— Std Dev x 0.001453
= Std Dev y 2.076
— 3500
E— — 3000
E— 2500
E— 2000
E— 1500
E— 1000
E— 500
= | I IR B BT B R B 1 N . 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0345306122449)<2.8/2%(0.00180630392909+0*uncVZ)}
hnewld
Entries 118438
= Mean -4.775
= Std Dev 2.076
— X2/ ndf 60.36 / 42
Amplitude 1.224e+04 + 5.008e+01
E: Mean -4.796 + 0.007
— Sigma 1.881+ 0.007
— Tail Z 2.983 £ 0.147
= Tail length 1.185 + 0.011
E
E MR B | M L
50 20 30 40 50




uncVZ:corrM {abs(corrM-0.0353265306122)<2.8/2*(0.00184033560486+0*uncVZ)}

50 hnew2d
= Entries 115698
40 — Mean x 0.0352
= Meany -4.781
20 E— Std Dev x 0.001479
= Std Dev y 2.034
20 — 3500
10 E— - - 3000
0 E— 2500
-10 f— 2000
20— 1500
-30 f— 1000
-40 f— 500
ol L L L L ) L L ) L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0353265306122)<2.8/2%(0.00184033560486+0*uncVZz)}
hnewld
. Entries 115698
10" =— Mean -4.781
= Std Dev 2.034
- X2/ ndf 65.16 / 41
5 Amplitude 1.218e+04 + 5.023e+01
10 = Mean -4.802 + 0.007
= Sigma 1.849 + 0.007
— Tail 2.957 +0.142
) Tail length 1.156 + 0.011
10" =
=
1
E MR R BRI B L
-50 20 30 40 50
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uncVZ:corrM {abs(corrM-0.0361224489796)<2.8/2*(0.00187436728063+0*uncVZ)}

hnew2d
= Entries 112899
— Mean x 0.03599
= Meany -4.792
E Std Dev x 0.00151
= Std Dev y 1.997
= 3500
= 3000
—_ i 2500
= ! 2000
E— 1500
= 1000
f— 500
=" L b L L e L L I P R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0361224489796)<2.8/2*(0.00187436728063+0*uncVz)}
hnewld
Entries 112899
= Mean -4.792
= Std Dev 1.997
— X2/ ndf 79.05/ 40
Amplitude 1.212e+04 + 5.057e+01
E Mean -4.809 + 0.006
= Sigma 1.811+ 0.007
— Tail 2.889 + 0.134
Tail length 1.135 + 0.011
E
E
E AR BT | A L
50 20 30 40 50




uncVZ:corrM {abs(corrM-0.0369183673469)<2.8/2*(0.00190839895641+0*uncVZ)}

50 hnew2d
= Entries 109688
40 — Mean x 0.03677
= Meany -4.793
30 E— Std Dev x 0.001538
= Std Dev y 1.96
20 —
= 3000
10 —
= 2500
0
= 2000
©E I
-20 f— - 1500
-30 f— 1000
0 E— 500
= Lo b by b by Ly 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0369183673469)<2.8/2%(0.00190839895641+0*uncVZ)}
hnewld
. Entries 109688
10 E Mean -4.793
— Std Dev 1.96
— X2/ ndf 71.85/40
s Amplitude 1.201e+04 + 5.099e+01
10 = Mean -4.815 + 0.007
= Sigma 1.775 £ 0.007
| Tail Z 2.801+ 0.135
10* = Tail length 1.125 + 0.011
10 -
1
E TR B | M L
-50 20 30 40 50




uncVZ:corrM {abs(corrM-0.0377142857143)<2.8/2*(0.00194243063218+0*uncVZ)}

50 = i hnew2d
= Entries 106108
40 — Mean x 0.03756
= Meany -4.794
20 E— Std Dev x 0.001564
= Std Dev y 1.932
20 /—
= 3000
10 —
= 2500
0
= 2000
-10 /—
-20 f— 1500
-30 f— 1000
20— 500
= | I IR B BT B R B 1 N . 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0377142857143)<2.8/2%(0.00194243063218+0*uncVZ)}
hnewld
B Entries 106108
100 E Mean -4.794
= Std Dev 1.932
— X2 I ndf 84.87 /39
e Amplitude 1.183e+04 + 5.068e+01
E Mean -4.815 £ 0.006
= Sigma 1.742 + 0.007
— Tail Z 2.73+0.13
10° Tail length 1.111+ 0.011
0 E-
1
g MR B 1 N .
-50 20 30 40 50




uncVZ:corrM {abs(corrM-0.0385102040816)<2.8/2*(0.00197646230795+0*uncVZ)}

50 hnew2d
= Entries 102475
40 — Mean x 0.03834
= Meany -4.803
20 E— Std Dev x 0.00159
= Std Dev y 1.901
20 —
= 3000
10 —
= 2500
oF—
= 2000
-10 /—
-20 f— 1500
-30 f— 1000
0 E— 500
= Lo b by b b A 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0385102040816)<2.8/2%(0.00197646230795+0*uncVZ)}
hnewld
B Entries 102475
10 E- Mean -4.803
— Std Dev 1.901
— X2/ ndf 71.3/38
R Amplitude 1.159e+04 + 5.025e+01
0= Mean -4.821% 0.006
= Sigma 1.718 + 0.006
I Tail Z 2.725 £ 0.146
10* = Tail length 1.084 + 0.011
0 E-
1
E [ . ﬂ MR B I R
-50 —40 10 20 30 40 50




uncVZ:corrM {abs(corrM-0.039306122449)<2.8/2*(0.00201049398372+0*uncVZ)}

50 hnew2d
= Entries 99124
40 — Mean x 0.03913
= Meany -4.809
30 E— Std Dev x 0.001619
= Std Dev y 1.869
20 3000
= — 2500
==
= 2000
-10 :_
= 1500
_20 —
30 E_ 1000
0 E— 500
= L M| L L L L M L M L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.039306122449)<2.8/2*(0.00201049398372+0*uncVZ)}
hnewld
4 Entries 99124
10 = Mean -4.809
= Std Dev 1.869
— X2 I ndf 72.12138
e Amplitude 1.142e+04 + 5.019e+01
= Mean -4.829 + 0.006
= Sigma 1.685 + 0.006
— Tail Z 2.648 £ 0.164
10° Tail length 1.072 + 0.011
0 E-
1
E | Lo | | L ” coe o by b e
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uncVZ:corrM {abs(corrM-0.0401020408163)<2.8/2*(0.00204452565949+0*uncVZ)}

hnew2d
= Entries 95298
— Mean x 0.03991
= Meany -4.814
E Std Dev x 0.001641
= Std Dev y 1.842
— 3000
— - 2500
= ﬁ 2000
E_ H 1500
— |
= 1000
= 500
=, Lo b by b b A 1 A R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0401020408163)<2.8/2%(0.00204452565949+0*uncVZ)}
hnewld
Entries 95298
= Mean -4.814
= Std Dev 1.842
— X2/ ndf 65.76 / 37
Amplitude 1.116e+04 + 4.979e+01
= Mean -4.834 + 0.006
- Sigma 1.66 + 0.01
— Tail Z 2.613 £ 0.182
= Tail length 1.054 + 0.011
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uncVZ:corrM {abs(corrM-0.0408979591837)<2.8/2*(0.00207855733526+0*uncVZ)}

uncVZ {abs(corrM-0.0408979591837)<2.8/2%(0.00207855733526+0*uncVZ)}

hnew2d
Entries 91435
Mean x 0.04069
Meany -4.821
Std Dev x 0.001667
Std Dev y 1.816
3000
2500
2000
1500
1000
500
M T 1 MR B L 0
0.07 0.08 0.09 0.1
hnewld
Entries 91435
Mean -4.821
Std Dev 1.816
X2/ ndf 62.66 /37
Amplitude 1.087e+04 + 4.933e+01
Mean —-4.839 + 0.006
Sigma 1.635 + 0.006
Tail Z 2.577 £ 0.225
Tail length 1.037 + 0.011
P B 1 PRI M
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uncVZ:corrM {abs(corrM-0.041693877551)<2.8/2*(0.00211258901103+0*uncVZ)}

hnew2d
= Entries 87513
— Mean x 0.04147
= Meany -4.824
E Std Dev x 0.001694
= Std Dev y 1.79
= _ 2500
= 2000
= 1500
= 1000
= 500
=, 1 L 1 ] 1 [ BT 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.041693877551)<2.8/2*(0.00211258901103+0*uncVZ)}
hnewld
| Entries 87513
E Mean -4.824
- Std Dev 1.79
_ X2 I ndf 4455/ 35
Amplitude 1.059e+04 + 5.051e+01
= Mean -4.845 + 0.007
= Sigma 1.602 + 0.007
- Tail Z 2.482 + 0.188
L Tail length 1.034 + 0.011
E
E | L] | ﬂ PR T U S ST E U R T B
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uncVZ:corrM {abs(corrM-0.0424897959184)<2.8/2*(0.0021466206868+0*uncVZ)}
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hnew2d
= Entries 83667
— Mean x 0.04225
— Meany -4.83
— Std Dev x 0.001721
— Std Dev y 1.765
= 2500
§ = 2000
= 1500
= 1000
= 500
B Lo L L L L L e L e L e 0
0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0424897959184)<2.8/2*(0.0021466206868+0*uncVZ)}
hnewld

Entries 83667

Mean -4.83

Std Dev 1.765

X2/ ndf 55.25/ 35

Amplitude 1.027e+04 + 5.007e+01

Mean -4.848 + 0.007

Sigma 158 £0.01

Tail Z 2.46 £ 0.15

Tail length 1.015 + 0.011
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uncVZ:corrM {abs(corrM-0.0432857142857)<2.8/2*(0.00218065236257+0*uncVZ)}

hnew2d
= Entries 79922
— Mean x 0.04303
= Meany -4.834
E Std Dev x 0.00175
= Std Dev y 1.745
— 2500
E_ = 2000
—_ 1500
= 1000
§ 500
=, Lo b by b by Ly 1 A R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0432857142857)<2.8/2%(0.00218065236257+0*uncVZ)}
hnewld

L Entries 79922

= Mean -4.834

— Std Dev 1.745

= X2/ ndf 48.8/34
= Amplitude 9936 + 49.5

= Mean -4.856 + 0.007

— Sigma 1.56 £ 0.01

Tail Z 2.412 £ 0.157

E? Tail length 1.009 + 0.011
E
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uncVZ:corrM {abs(corrM-0.0440816326531)<2.8/2*(0.00221468403834+0*uncVZ)}
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hnew2d
= Entries 76056
— Mean x 0.04381
— Meany -4.84
— Std Dev x 0.001776
= Std Dev y 1.722
— 2500
E_ 2000
E_ 1500
;_ 1000
§ 500
= L e e by e by b Ly 0
0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0440816326531)<2.8/2%(0.00221468403834+0*uncVZ)}
hnewld
L Entries 76056
= Mean -4.84
= Std Dev 1.722
— X2/ ndf 44.01/34
Amplitude 9600 + 48.9
= Mean -4.86 + 0.01
— Sigma 1.536 + 0.007
— Tail Z 2.371+£ 0.172
— Tail length 0.9951+ 0.0111
E
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uncVZ:corrM {abs(corrM-0.0448775510204)<2.8/2*(0.00224871571411+0*uncVZ)}

50 = i hnew2d
= Entries 71922
40 — Mean x 0.04459
= Meany -4.842
30 E— Std Dev x 0.001798
= Std Dev y 1.698
20 /—
10E— 2000
(o) =
= 1500
-10 :_
-20 f— 1000
-30 E_
= 500
-40 :_
= [T 1 ] 1 L 1 A 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0448775510204)<2.8/2%(0.00224871571411+0*uncVZ)}
hnewld
10¢ = Entries 71922
= Mean -4.842
— Std Dev 1.698
- X2/ ndf 49.49 /33
10° Amplitude 9221+ 48.4
= Mean -4.863 £ 0.007
— Sigma 1.511+ 0.007
— Tail Z 2.31+0.14
10?2 =— Tail length 0.9881+ 0.0114
10
1
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uncVZ:corrM {abs(corrM-0.0456734693878)<2.8/2*(0.00228274738988+0*uncVZ)}

50 hnew2d
= Entries 68179
40 — Mean x 0.04537
= Meany —4.846
20 E— Std Dev x 0.001826
= Std Dev y 1.672
20 —
= 2000
10 — — -
U= ﬁ 1500
- !
20— - '_ 1000
_30 :_
= 500
-40 :_
ol L 4 L L L L L L L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0456734693878)<2.8/2%(0.00228274738988+0*uncVZz)}
hnewld
10° = Entries 68179
= Mean -4.846
— Std Dev 1.672
— X2/ ndf 58.13/33
100 — Amplitude 8863 + 47.7
= Mean -4.862 + 0.007
— Sigma 1.491+ 0.007
— Tail 2.304 £ 0.139
10° = Tail length 0.9648 + 0.0116
e
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uncVZ:corrM {abs(corrM-0.0464693877551)<2.8/2*(0.00231677906565+0*uncVZ)}

hnew2d
= Entries 64656
— Mean x 0.04616
= Meany -4.853
E Std Dev x 0.001857
= Std Dev y 1.654
= 2000
= 1500
= =- 1000
= 500
=, Lo b by b b A 1 A R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0464693877551)<2.8/2%(0.00231677906565+0*uncVZz)}
hnewld
- Entries 64656
— Mean -4.853
— Std Dev 1.654
— X2/ ndf 45.07 /32
L Amplitude 8514 + 46.9
= Mean -4.873 £ 0.007
= Sigma 1.47 +0.01
— Tail Z 2.244 + 0.158
= Tail length 0.9633 + 0.0115
E . ’1‘ Ly Lo by Ly
50 10 20 30 40 50




uncVZ:corrM {abs(corrM-0.0472653061224)<2.8/2*(0.00235081074143+0*uncVZ)}

50 hnew2d
= Entries 61196
40 — Mean x 0.04693
= Meany —-4.856
30 E— Std Dev x 0.001885
= Std Dev y 1.633
20— 2000
10 /— -
oE— 1500
-10 E_
= - 1000
-20 — -
_30 :_
= 500
-40 :_
ol L 4 L L L ) L 1 A L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0472653061224)<2.8/2%(0.00235081074143+0*uncVZ)}
hnewld
10 = Entries 61196
= Mean -4.856
— Std Dev 1.633
— X2/ ndf 36.92/32
10° = Amplitude 8156 + 46.0
= Mean -4.875 £ 0.007
— Sigma 1.453 + 0.007
— Tail Z 2.22+0.17
10° = Tail length 0.9511+ 0.0117
10 E-
1
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uncVZ:corrM {abs(corrM-0.0480612244898)<2.8/2*(0.0023848424172+0*uncVZ)}

50 = i hnew2d
= Entries 57536
40 — Mean x 0.04771
= Meany -4.861
30 E— Std Dev x 0.001907
= Std Dev y 1.618
20 /—
10 —
= = 1500
(o) =
= 1000
20 — -
-30 ;— 500
-40 :_
= 1 AR R RS RSN RS | A 1 A R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0480612244898)<2.8/2*(0.0023848424172+0*uncVZ)}
hnewld
10* Entries 57536
Mean -4.861
Std Dev 1.618
X2/ ndf 38.78/31
10° Amplitude 7755 + 45.0
Mean -4.883 £ 0.007
Sigma 1.436 + 0.007
Tail Z 2.174 £ 0.194
10 Tail length 0.9484 + 0.0118
10
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uncVZ:corrM {abs(corrM-0.0488571428571)<2.8/2*(0.00241887409297+0*uncVZ)}

50 hnew2d
= Entries 54196
40 — Mean x 0.0485
= Meany -4.863
20 E— Std Dev x 0.001934
= Std Dev y 1.601
20 —
10— - 1500
oF—
-10 — 1000
= _
-30 — 500
_40 E_
= Lo b by b b A 1 A R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0488571428571)<2.8/2%(0.00241887409297+0*uncVZ)}
hnewld
10' = Entries 54196
= Mean -4.863
- Std Dev 1.601
— X2/ ndf 37.21/31
10° = Amplitude 7398 + 44.1
= Mean -4.888 + 0.007
— Sigma 1.416 + 0.007
I~ Tail 2.122 + 0.344
10° = Tail length 0.9453 + 0.0117
=
1
E L A | M B
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uncVZ:corrM {abs(corrM-0.0496530612245)<2.8/2*(0.00245290576874+0*uncVZ)}

50 = i hnew2d
= Entries 51007
40 — Mean x 0.04929
= Meany —-4.864
30 E— Std Dev x 0.00196
= Std Dev y 1.59
20 E— 1600
= 1400
10 /— - -
= 1200
0
= 1000
-10 :_
= 800
-20 —
= - 600
R = 400
-40 ;— 200
= Lo b by b b A 1 A R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0496530612245)<2.8/2%(0.00245290576874+0*uncVZ)}
hnewld
10 == Entries 51007
= Mean -4.864
— Std Dev 1.59
— X2/ ndf 22.85/31
10° = Amplitude 7033 + 43.2
= Mean -4.89 £ 0.01
— Sigma 1.401+ 0.007
— Tail Z 2.08+0.41
10 Tail length 0.9433 + 0.0119
10
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uncVZ:corrM {abs(corrM-0.0504489795918)<2.8/2*(0.00248693744451+0*uncVZ)}

50 = i hnew2d
= Entries 47749
40 — Mean x 0.05006
= Meany -4.863
20 E— Std Dev x 0.001976
= Std Dev y 1.571
20 — 1600
— 1400
10 — -
= 1200
[ON
— 1000
-10 :_
— 800
-20 —
= 600
R = 400
-40 ;— 200
= Loy 1 1 1 Ll N 1 M BT 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0504489795918)<2.8/2%(0.00248693744451+0*uncVZ)}
. hnewld
10 Entries 47749
Mean -4.863
Std Dev 1.571
X2/ ndf 24.13/31
10° Amplitude 6647 + 84.8
Mean -4.892 + 0.077
Sigma 1.388 + 0.058
Tail Z 2.08 £ 0.62
102 Tail length 0.9357 + 0.0065
10
1 H
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uncVZ:corrM {abs(corrM-0.0512448979592)<2.8/2*(0.00252096912028+0*uncVZ)}

50 = i hnew2d
= Entries 44919
40 — Mean x 0.05083
= Meany -4.867
30 E— Std Dev x 0.002003
= Std Dev y 1.563
20 E— 1600
= 1400
10 —
= 1200
0
= 1000
-10 :_
= 800
-20 —

° = 600
R = 400
-40 ;— 200
= [T 1 ] 1 | A 1 A R 0

0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0512448979592)<2.8/2%(0.00252096912028+0*uncVZ)}

4 hnewld
100 == Entries 24919

- Mean -4.867
| Std Dev 1.563
10° X2/ ndf 32.71/30
EE Amplitude 6301+ 41.2
— Mean -4.897 £ 0.008
— Sigma 1.376 + 0.008
10?2 — Tail 2.028 + 0.292
§ Tail length 0.9339 + 0.0125
0 E-
1
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uncVZ:corrM {abs(corrM-0.0520408163265)<2.8/2*(0.00255500079605+0*uncVZ)}

uncVZ {abs(corrM-0.0520408163265)<2.8/2*(0.00255500079605+0*uncVZz)}

hnew2d
Entries 42090
Mean x 0.0516
Meany -4.871
Std Dev x 0.002033
Std Dev y 1.554
1400
1200
1000
800
600
400
200
M T 1 RN T I T T T 0
0.07 0.08 0.09 0.1
hnewld
Entries 42090
Mean -4.871
Std Dev 1.554
X2/ ndf 37.22/30
Amplitude 5950 + 40.1
Mean -4.901 + 0.008
Sigma 1.366 + 0.008
Tail Z 2.009 + 0.432
Tail length 0.9283 + 0.0127
P B 1 M RN T
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uncVZ:corrM {abs(corrM-0.0528367346939)<2.8/2*(0.00258903247182+0*uncVZ)}

50 = i hnew2d
= Entries 39335
40 — Mean x 0.05239
= Meany -4.875
30 E— Std Dev x 0.002062
= Std Dev y 1.539
20— 1200
10 —
= 1000
oF—
= 800
-10 :_
= - 600
-20 /—
-30 f— 400
0 E— 200
= [T 1 ] 1 L A 1 A R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0528367346939)<2.8/2%(0.00258903247182+0*uncVZ)}
10° hnewld
= Entries 39335
= Mean -4.875
— Std Dev 1.539
L X I ndf 26.77/29
10 = Amplitude 5665 + 40.9
— Mean -4.901 £+ 0.008
— Sigma 1.332 + 0.009
5 Tail Z 1.905 + 1.282
10° E— Tail length 0.9319 + 0.0128
10
1
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uncVZ:corrM {abs(corrM-0.0536326530612)<2.8/2*(0.00262306414759+0*uncVZ)}

50 = i hnew2d
= Entries 36799
40 — Mean x 0.05317
= Meany -4.877
30 E— Std Dev x 0.002092
= Std Dev y 1.527
20— 1200
10 —
= 1000
(o) =
= 800
-10 :_
= - 600
-20 /—
-30 f— 400
0 E— 200
= Lo b by b b A 1 A R 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0536326530612)<2.8/2%(0.00262306414759+0*uncVZ)}
10° hnewld
Entries 36799
Mean -4.877
Std Dev 1.527
10° X2/ ndf 32.66 /29
= Amplitude 5350 + 40.0
= Mean -4.899 + 0.009
| Sigma 1.319 + 0.009
5 Tail Z 1.888 + 0.312
10 E Tail length 0.9208 + 0.0132
10 =
1
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uncVZ:corrM {abs(corrM-0.0544285714286)<2.8/2*(0.00265709582336+0*uncVZ)}

50 = i hnew2d
= Entries 34260
40 — Mean x 0.05395
= Meany -4.879
30 E— Std Dev x 0.002112
— Std Dev y 1.514
20 E— 1200
10 /— 1000
0O~ 800
-10 :_
= - 600
-20 :_
= 400
-30 /—
0 E— 200
ol L 4 L L L L L L L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0544285714286)<2.8/2%(0.00265709582336+0*uncVZz)}
hnewld
Entries 34260
Mean -4.879
Std Dev 1.514
X2/ ndf 39.19/28
Amplitude 5039 + 39.2
Mean -4.906 + 0.009
Sigma 1.302 + 0.010
Tail Z 1.836 + 0.217
Tail length 0.923 + 0.014




uncVZ:corrM {abs(corrM-0.0552244897959)<2.8/2*(0.00269112749913+0*uncVZ)}

10°

10

50 = i hnew2d
= Entries 31981
40 — Mean x 0.05472
— Meany -4.88
30 — Std Dev x 0.002141
= Std Dev y 1.506
20 —
= 1000
10 —
= e
0
- L
20 = =
= 400
-30 :_
= 200
_40 —
ol L 4 L L L L L L L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0552244897959)<2.8/2%(0.00269112749913+0*uncVZ)}
- hnewld
= Entries 31981
— Mean -4.88
— Std Dev 1.506
- X2/ ndf 49.04 /28
= Amplitude 4723 + 38.0
- Mean -4.903 + 0.009
[ Sigma 1.297 + 0.010
) Tail Z 1.842 + 0.192
§_ Tail length 0.9128 + 0.0142
10 =—
1=
= M T RS T RS ST I T
-50 10 20 30 40 50




uncVZ:corrM {abs(corrM-0.0560204081633)<2.8/2*(0.0027251591749+0*uncVZ)}

50 = i hnew2d
= Entries 29714
40 — Mean x 0.0555
= Meany -4.877
30 E— Std Dev x 0.002164
= Std Dev y 1.499
= T000
20 —
10 = 800
0=
= 600
-10 /—
-20 =~ = 400
_305_
= 200
_40__
ol L 4 L L L L L L L 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0560204081633)<2.8/2*(0.0027251591749+0*uncVZ)}
hnewld
Entries 29714
Mean -4.877
Std Dev 1.499
X2/ ndf 38.7/28
Amplitude 4396 + 36.6
Mean -49+0.0
Sigma 1.296 + 0.010
Tail Z 1.851+ 0.223
Tail length 0.9069 + 0.0146




uncVZ:corrM {abs(corrM-0.0568163265306)<2.8/2*(0.00275919085067+0*uncVZ)}

50 = i hnew2d
= Entries 27565
40 — Mean x 0.05629
= Meany -4.882
20 E— Std Dev x 0.002186
= Std Dev y 1.487
= 1000
20 —
10 = 800
E =
= 600
-10 /—
-20 ;— 400
-30 E_
= 200
_40 —
= Loy 1 1 1 1 N 1 M BT 0
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
uncVZ {abs(corrM-0.0568163265306)<2.8/2%(0.00275919085067+0*uncVZ)}
- hnewld
= Entries 27565
— Mean -4.882
I Std Dev 1.487
10° = X2/ ndf 38.79 /28
= Amplitude 4110 + 35.6
— Mean -49+0.0
I Sigma 1.284 + 0.011
10° =— Tail Z 1.839 + 0.200
= Tail length 0.8968 + 0.0152
10
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uncVZ:corrM {abs(corrM-0.057612244898)<2.8/2*(0.00279322252645+0*uncVZ)}

50

40

30

20

10

o
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

|
o
(=]

uncVZ {abs(corrM-0.057612244898)<2.8/2*(0.00279322252645+0*uncVZ)}

10°

10

I IIIIIH| I IIIIIﬂ] AL

10

hnew2d
Entries 25699
Mean x 0.05706
Meany -4.889
Std Dev x 0.002215
Std Dev y 1.473
800
600
400
200
M T 1 MR B L 0
0.07 0.08 0.09 0.1
hnewld
Entries 25699
Mean -4.889
Std Dev 1.473
X2/ ndf 40.73/28
Amplitude 3858 + 34.5
Mean -4.903 + 0.010
Sigma 1.278 £ 0.011
Tail Z 1.856 + 0.194
Tail length 0.8797 + 0.0158
P B 1 PRI M
20 30 40 50




50
40
30
20

10

10°

10

10

=
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